Pemurs ypaBHEHHUE:

-x=14

a)x =14
b)x=-14
C) pelICHUI HET

d) X — 11000€ YHCIo
e)x=14ux=-14

-x =69

a) X =69
b) x =-69
C) pelICHUI HET

d) X — 11000€ YHCI0
e)xX=69ux=-69



Pemurs ypaBHEHHUE:

[X[=S

a)x =135

b) x — mo0o0e Yncio
C) pelICHUI HET
d)x=5ux=-5
€)X =-5

[x|=6

a)x =206

b)x=-6

C) pelICHUI HET

d) X — 11000€ YHCI0
e)x=6ux=-6



Pemurs ypaBHEHHUE:

x| = 24

a)x =24
b) x =-24
C) pelICHUI HET

d) X — 11000€ YHCIo
e)x=24ux=-24

x| = 45

a) x =45
b) x =-45
C) pelICHUI HET

d) X — 11000€ YHCI0
e)x=45ux=-45



Pemurs ypaBHEHHUE:

x| =- 37

a)x =37
b) x =-37
C) pelICHUI HET

d) X — 11000€ YHCIo
e)x=37ux=-37

x| =-72

a)x =72

b) pemieHuil HET

C) X — IF000E€ YHCIIO
d)x=-72
e)x=72ux=-72



Pemurs ypaBHEHHUE:

ly|+4 =14

a) y=10
b) y =-10
c)y=18ny=-18
d) y=10mny =18
¢) y=10ny=-10

T+Hy| =7

a) y=14
b)y=14ny=-14
C) pelICHUI HET
d)y=0

€) y - 1r000€ YHUCIIO
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